Commun. Korean Math. Soc. **38** (2023), No. 2, pp. 377–387 https://doi.org/10.4134/CKMS.c210303 pISSN: 1225-1763 / eISSN: 2234-3024

TWO LINEAR POLYNOMIALS SHARED BY AN ENTIRE FUNCTION AND ITS LINEAR DIFFERENTIAL POLYNOMIALS

GOUTAM KUMAR GHOSH

ABSTRACT. In this paper, we study a uniqueness problem of entire functions that share two linear polynomials with its linear differential polynomial. We deduce two theorems which improve some previous results given by I. Lahiri [7].

1. Introduction, definitions and results

Let f and g be two nonconstant entire functions, and let a be a polynomial. We denote by E(a; f) the set of zeros of f - a counted with multiplicities and by $\overline{E}(a; f)$ the set of distinct zeros of f - a. Then we say that f and g share a CM (counting multiplicities) if E(a; f) = E(a; g). Also we say that f and g share a IM (ignoring multiplicities) if $\overline{E}(a; f) = \overline{E}(a; g)$. For standard definitions and results we refer the reader to [4]. By meromorphic functions we shall always mean meromorphic functions in the complex plane \mathbb{C} . We adopt the standard notations of the Nevanlinna theory of meromorphic functions as explained in [13]. It will be convenient to let E denote any set of positive real numbers of finite linear measure, not necessarily the same at each occurrence. For a non-constant meromorphic function h, we denote by T(r, h) any quantity satisfying $S(r, h) = o\{T(r, h)\}$ as $r \to \infty$ and $r \notin E$.

In 1977, L. A. Rubel and C. C. Yang [11] first investigated the uniqueness of entire functions, which share certain values with their derivatives. They proved that if a non-constant entire function f and its first derivative $f^{(1)}$ share two distinct finite numbers a, b CM, then $f \equiv f^{(1)}$. Considering $f(z) = e^{e^z} \int_0^z e^{-e^t} (1-e^t) dt$ [13, p. 386], one can easily verify that sharing of two values is essential.

In 1979, E. Mues and N. Steinmetz [10] improved the result of Rubel and Yang [11] replacing CM shared values by IM shared values. In 1990, Yang [12] extended the result of Rubel and Yang to any k^{th} order derivative $f^{(k)}$ of the

O2023Korean Mathematical Society

Received September 8, 2021; Accepted August 17, 2022.

 $^{2020\} Mathematics\ Subject\ Classification.\ 30D35.$

Key words and phrases. Entire function, transcendental function, uniqueness.

entire function f. In 2000, Li and Yang [9] improved the result of Yang [12] and settled a conjecture of Frank [2] affirmatively. Their result can be stated as follows.

Theorem 1.1 ([9]). Let f be a nonconstant entire function, k be a positive integer and a and b two distinct finite values. If f and $f^{(k)}$ share a and b IM, then $f \equiv f^{(k)}$.

The natural extension of a derivative of an entire function f is a linear differential polynomial generated by f. In 1994, Gu [3] extended the result of Rubel and Yang [11] to a linear differential polynomial. The result of Gu stated as follows:

Theorem 1.2 ([3]). Let f be a nonconstant entire function a and b be two distinct finite complex numbers and $L(f) = f^{(n)} + a_1 f^{(n-1)} + \cdots + a_n f$, where $a_j \ (j = 1, 2, ..., n)$ are small entire functions of f. If f and L(f) share a and b CM and $a + b \neq 0$ or $a_n \not\equiv -1$, then $f \equiv L(f)$.

The following theorem of Bernstein et al. [1] is an improvement of Theorem 1.2.

Theorem 1.3 ([1]). Let f be a nonconstant entire function, a and b be two distinct finite complex numbers and $L(f) = b_n f^{(n)} + b_{n-1} f^{(n-1)} + \cdots + b_1 f^{(1)} + b_0 f$, where b_j (j = 0, 1, 2, ..., n) are small meromorphic functions of f. If f and L(f) share a and b CM, then $f \equiv L(f)$.

In contrast to the derivative of an entire function, we see in the following examples that it is not possible in the case of a linear differential polynomial to replace any CM shared value by an IM shared value.

Example 1.4. Let $f = 1 + (e^z - 1)^2$ and $L(f) = \frac{1}{2}f^{(2)} - f^{(1)}$. Then f and L(f) share 1 IM and 2 CM but $f \neq L(f)$.

Example 1.5 ([8]). Let $f = \frac{1}{2}e^z + \frac{1}{2}e^{-z}$ and $L(f) = f^{(2)} + f^{(1)}$. Then f and L(f) share 1 and -1 IM but $f \neq L(f)$.

Although one IM shared value and one CM shared value cannot ensure the equality of an entire function with a linear differential polynomial generated by it, Li and Yang [8] exhibited two possibilities in the following theorem.

Theorem 1.6 ([8]). Let f be a nonconstant entire function and

(1.1)
$$L(f) = b_{-1} + \sum_{j=0}^{n} b_j f^{(j)},$$

where b_j (j = -1, 0, 1, ..., n) are small meromorphic functions of f. Let a and b be two distinct finite values. If f and L(f) share a CM and b IM, then either $f \equiv L(f)$ or f and L(f) have the following forms: $f = b + (a - b)(e^{\alpha} - 1)^2$ and $L(f) = b + (a - b)(e^{\alpha} - 1)$, where α is an entire function.

If we look at the above theorem, then we see that in the case of non-equality of f and L(f), almost all the b-points of f and L(f) are double and simple, respectively, whereas the a-points of f and L(f) are almost all simple. In fact, we shall show that the simple a-points and b-points of f play a role to ascertain the equality of f and L(f). Also, we shall see that the simple a-points of f still play a crucial role even if the other value b shared IM. To this end, we need the following idea of value sharing.

Let $A \subset \mathbb{C}$ and k be a nonnegative integer or infinity. We denote by $E_k(a; f, A)$ the collection of those a-points of f that belong to A, where an a-point of f with multiplicity p is counted p times if $p \leq k$ and k + 1 times if $p \geq k + 1$.

Also by $\overline{N}_A(r, a; f)$ we denote the reduced counting function of those *a*points of f that lie in A. We now put $A = \overline{E}(a; f) \cap \overline{E}(a; g)$ and $B = \overline{E}(a; f)\Delta \overline{E}(a; g)$, where Δ denotes the symmetric difference of sets.

We shall say that f and g share the value a with weight k in the weak sense, written symbolically f, g share $(a,k)^*$, if $E_k(a; f, A) = E_k(a; g, A)$ and $\overline{N}_B(r, a; f) = S(r, f)$ and $\overline{N}_B(r, a; g) = S(r, g)$.

It is clear that if f, g share $(a, k)^*$, then f, g share $(a, p)^*$ for every integer p with $0 \le p < k$. Further f, g share $(a, 0)^*$ if and only if f, g share the value a IM^* and f, g share the value $a CM^*$ if f, g share $(a, \infty)^*$. For the definitions of IM^* and CM^* we refer to [8]. We further note that the notion of weighted sharing in the weak sense coincides with that of weighted sharing (see [5,6] for the definition) if $B = \emptyset$.

If a = a(z) is a small function of f and g, then we shall say that f, g share $(a, k)^*$ if f - a and g - a share $(0, k)^*$.

In 2018, I. Lahiri [7] improved Theorem 1.6 in the following manner.

Theorem 1.7 ([7]). Let f be a nonconstant entire function and L(f) be defined by (1.1). Suppose that a and b are two distinct finite complex numbers. If fand L(f) share $(a, 1)^*$ and $(b, 1)^*$, then $f \equiv L(f)$.

In the same paper I. Lahiri [7] gave another theorem.

Theorem 1.8 ([7]). Let f be a nonconstant entire function and L(f) be defined by (1.1). Suppose that a and b are two distinct finite complex numbers. If fand L(f) share $(a, 1)^*$ and $(b, 0)^*$, then the conclusion of Theorem 1.6 holds.

We now state the main results of the paper which improve Theorem 1.7 and Theorem 1.8 by considering shared linear polynomials instead of shared values.

Theorem 1.9. Let f be a transcendental entire function and L(f) be defined by (1.1). Suppose that $a(z) = \alpha z + \beta_1$, $b(z) = \alpha z + \beta_2$ are two distinct linear polynomials where, $\alpha(\neq 0), \beta_1(\neq \beta_2)$ are constants. If f and L(f) share $(a, 1)^*$ and $(b, 1)^*$, then $f \equiv L(f)$.

Theorem 1.10. Let f be a transcendental entire function and L(f) be defined by (1.1). Suppose that $a(z) = \alpha z + \beta_1$, $b(z) = \alpha z + \beta_2$ are two distinct linear polynomials, where $\alpha \neq 0$, $\beta_1 \neq \beta_2$ are constants. If f and L(f) share $(a, 1)^*$ and $(b, 0)^*$, then the conclusion of Theorem 1.6 holds.

Li and Yang [8] exhibited by an example that Theorem 1.6 is not valid for meromorphic functions. However, they proved the following extension of Theorem 1.6.

Theorem 1.11 ([8]). Let f be a nonconstant meromorphic function with N(r, f) = S(r, f) and L(f) be defined by (1.1). Let $a(\neq \infty)$ and $b(\neq \infty)$ be two distinct small functions of f. If f and L(f) share a CM^* and b IM^* , then either $f \equiv L(f)$ or f and L(f) have the following forms: $f = b + (a-b)(e^{\alpha}-1)^2$ and $L(f) = b + (a-b)(e^{\alpha}-1)$, where α is an entire function.

2. Lemmas

In this section we present some necessary lemmas.

Lemma 2.1. Let f and g be two transcendental entire functions sharing $(a, 0)^*$, $(b, 0)^*$ and $(\infty, 0)^*$, where $a(z) = \alpha_1 z + \beta_1$, $b(z) = \alpha_2 z + \beta_2$ are two distinct linear polynomials and $\alpha_1 \neq 0$, $\beta_1, \alpha_2 \neq 0$, β_2 are constants. Then

$$T(r,f) \le 3T(r,g) + S(r,f)$$

and

$$T(r,g) \le 3T(r,f) + S(r,g)$$

The lemma is a consequence of the Second Fundamental Theorem.

Note. Lemma 2.1 implies that S(r, f) = S(r, g).

Lemma 2.2. Let f be a transcendental entire function and L(f) be defined by (1.1). Let $a(z) = \alpha z + \beta_1$, $b(z) = \alpha z + \beta_2$ be two distinct linear polynomials, where $\alpha(\neq 0), \beta_1(\neq \beta_2)$ are constants. If f and L(f) share $(a, 0)^*$ and $(b, 0)^*$, then

$$T(r,f) = \overline{N}(r,a;f) + \overline{N}(r,b;f) + S(r,f)$$

provided $f \not\equiv L(f)$.

Proof. Let $\phi = \frac{(f^{(1)}-\alpha)(f-L)}{(f-a)(f-b)}$. By Lemma 2.1, S(r,L) = S(r,f). We suppose that $f \neq L$. Then by the hypothesis $N(r,\phi) = S(r,f)$. Since

$$\phi = \frac{1 - b_0}{a - b} \left(\frac{a(f^{(1)} - \alpha)}{f - a} - \frac{b(f^{(1)} - \alpha)}{f - b} \right) - \frac{b_{-1} + b_1 \alpha}{a - b} \left(\frac{f^{(1)} - \alpha}{f - a} - \frac{f^{(1)} - \alpha}{f - b} \right) - \frac{f^{(1)} - \alpha}{f - a} \left(\frac{b_1(f^{(1)} - \alpha)}{f - b} - \frac{b_2 f^{(2)}}{f - b} - \dots - \frac{b_n f^{(n)}}{f - b} \right),$$

from the lemma of logarithmic derivative we see that $m(r, \phi) = S(r, f)$ and so $T(r, \phi) = S(r, f)$. We have

$$T(r, f - L) = T\left(r, \frac{\phi(f - a)(f - b)}{f^{(1)} - \alpha}\right)$$

$$\begin{split} &= T\left(r, \frac{f^{(1)} - \alpha}{(f-a)(f-b)}\right) + S(r, f) \\ &= T\left(r, \frac{1}{a-b}\left(\frac{f^{(1)} - \alpha}{f-a} - \frac{f^{(1)} - \alpha}{f-b}\right)\right) + S(r, f) \\ &= N\left(r, \frac{1}{a-b}\left(\frac{f^{(1)} - \alpha}{f-a} - \frac{f^{(1)} - \alpha}{f-b}\right)\right) + S(r, f) \\ &= N\left(r, \frac{f^{(1)} - \alpha}{f-a}\right) + N\left(r, \frac{f^{(1)} - \alpha}{f-b}\right) + S(r, f) \\ &= \overline{N}\left(r, \frac{1}{f-a}\right) + \overline{N}\left(r, \frac{1}{f-b}\right) + S(r, f). \end{split}$$

From the expression of L, it is clear that $T(r, f - L) \leq T(r, f) + S(r, f)$. Thus $\overline{N}(r, \frac{1}{f-a}) + \overline{N}(r, \frac{1}{f-b}) \leq T(r, f) + S(r, f)$. According to Nevanlinna's Second Fundamental Theorem and above inequality, we have $T(r, f) = \overline{N}(r, a; f) + \overline{N}(r, b; f) + S(r, f)$.

3. Proofs of the theorems

Proof of Theorem 1.9. Set

$$\phi = \frac{(f^{(1)} - \alpha)(f - L)}{(f - a)(f - b)}, \psi = \frac{L^{(1)} - \alpha}{L - b} - \frac{f^{(1)} - \alpha}{f - b} \text{ and } \gamma = \frac{L^{(1)} - \alpha}{L - a} - \frac{f^{(1)} - \alpha}{f - a}.$$

Then

(3.1)
$$\phi \frac{f-a}{f^{(1)}-\alpha} = 1 - \frac{L-b}{f-b}.$$

By taking the derivative in both sides of the above identity and using it again, we deduce that

(3.2)
$$(\phi + \psi) \frac{f^{(1)} - \alpha}{f - a} - \phi \frac{f^{(2)}}{f^{(1)} - \alpha} + \phi^{(1)} - \phi \psi = 0.$$

Since f and L share $(a, 1)^*$, $(b, 1)^*$ and $(\infty, 0)^*$, by Lemma 2.1, S(r, L) = S(r, f). We suppose that $f \neq L$. Then by the hypothesis $N(r, \phi) = S(r, f)$. Since

$$\phi = \frac{1 - b_0}{a - b} \left(\frac{a(f^{(1)} - \alpha)}{f - a} - \frac{b(f^{(1)} - \alpha)}{f - b} \right) - \frac{b_{-1} + b_1 \alpha}{a - b} \left(\frac{f^{(1)} - \alpha}{f - a} - \frac{f^{(1)} - \alpha}{f - b} \right) - \frac{f^{(1)} - \alpha}{f - a} \left(\frac{b_1(f^{(1)} - \alpha)}{f - b} - \frac{b_2 f^{(2)}}{f - b} - \dots - \frac{b_n f^{(n)}}{f - b} \right),$$

from the lemma of the logarithmic derivative we see that $m(r, \phi) = S(r, f)$ and so $T(r, \phi) = S(r, f)$.

Now we verify $\overline{N}_{(2}(r,a;f) = S(r,f)$ and $\overline{N}_{(2}(r,b;f) = S(r,f)$. Let z_0 be a zero of f-a with multiplicity $p(\geq 2)$ and a zero of L-a with multiplicity

 $q(\geq 2)$. Then z_0 is a zero of ϕ with multiplicity at least min $\{p,q\} - 1 \geq 1$. Hence

$$\overline{N}_{(2}(r,a;f\mid L=a,\geq 2)\leq N(r,0;\phi)=S(r,f),$$

where $\overline{N}_{(2)}(r, a; f \mid L = a, \geq 2)$ denotes the reduced counting function of those *a*-points of *f* whose multiplicity (≥ 2) which are also multiple *a*-points of *L*. Since *f* and *L* share $(a, 1)^*$,

$$\overline{N}_{(2}(r,a;f) = \overline{N}_{(2}(r,a;f \mid L=a, \ge 2) + \overline{N}_{(2}(r,a;f \mid L=a, =1))$$

= $S(r,f),$

where $\overline{N}_{(2)}(r, a; f \mid L = a, = 1)$ denotes the reduced counting function of multiple *a*-points of *f* are also simple *a*-pionts of *L*. Similarly, $\overline{N}_{(2)}(r, b; f) = S(r, f)$.

Since by Lemma 2.2 we have

$$T(r, f) = \overline{N}(r, a; f) + \overline{N}(r, b; f) + S(r, f)$$

so $\overline{N}(r,a;f)$ and $\overline{N}(r,b;f)$ not simultaneously S(r,f). Now we consider the following cases.

Case I. $\overline{N}(r, a; f) \neq S(r, f)$. Since

$$\psi = \frac{L^{(1)} - \alpha}{L - b} - \frac{f^{(1)} - \alpha}{f - b}$$

and f and L share $(b, 1)^*$,

$$\begin{split} N(r,\psi) &= \overline{N}(r,\psi) \leq \overline{N}_{(2}(r,b;f) + S(r,f) \\ &= S(r,f), \end{split}$$

since simple zeros of f - b are not the poles of ψ . Since $m(r, \psi) = S(r, f)$, we obtain $T(r, \psi) = S(r, f)$.

Since $\overline{N}(r,a;f) \neq S(r,f)$ and $\overline{N}_{(2}(r,a;f) = S(r,f)$, it follows from (3.2) that

$$\phi + \psi \equiv 0$$

and so,

$$\frac{f^{(2)}}{f^{(1)} - \alpha} - \frac{\phi^{(1)}}{\phi} + \frac{L^{(1)} - \alpha}{L - b} - \frac{f^{(1)} - \alpha}{f - b} = 0.$$

Integrating the above equation we get

$$\phi(f-b) = c(f^{(1)} - \alpha)(L-b),$$

where c is a nonzero constant. Now using the definition of ϕ ,

(3.3)
$$(f-L) = c(f-a)(L-b)$$

From (3.3) f - b = (L - b) + c(f - a)(L - b) which implies

(3.4)
$$\frac{f-b}{L-b} = c\left(f - \frac{ac-1}{c}\right)$$

383

and

(3.5)
$$\frac{L-a}{f-a} = -c\left(L - \frac{bc+1}{c}\right).$$

Since f and L share $(a, 1)^*$ and $(b, 1)^*$, it follows from (3.4) and (3.5) that

$$\overline{N}\left(r,\frac{ac-1}{c};f\right) = \overline{N}\left(r,0;\frac{f-b}{L-b}\right)$$
$$\leq \overline{N}_{(2}(r,b;f) + S(r,f)$$
$$= S(r,f)$$

and

$$\begin{split} \overline{N}\left(r,\frac{bc+1}{c};L\right) &= \overline{N}\left(r,0;\frac{L-a}{f-a}\right) \\ &\leq \overline{N}_{(2}(r,a;L) + S(r,L) \\ &= \overline{N}_{(2}(r,a;f) + S(r,L) \\ &= S(r,L) \end{split}$$

and by the Second Fundamental Theorem,

(3.6) $T(r,f) = \overline{N}(r,a;f) + S(r,f)$

and

(3.7)
$$T(r,L) = \overline{N}(r,b;L) + S(r,L).$$

From (3.6) and (3.7) and Lemma 2.2, we find that T(r, L) = S(r, L), which is a contradiction.

Case II. $\overline{N}(r, b; f) \neq S(r, f)$. Since

$$\gamma = \frac{L^{(1)} - \alpha}{L - a} - \frac{f^{(1)} - \alpha}{f - a}$$

and f and L share $(a, 1)^*$,

$$\begin{split} N(r,\gamma) &= \overline{N}(r,\gamma) \leq \overline{N}_{(2}(r,a;f) + S(r,f) \\ &= S(r,f), \end{split}$$

since simple zeros of f - a are not the poles of γ . Since $m(r, \gamma) = S(r, f)$, we obtain $T(r, \gamma) = S(r, f)$. From the definition of ϕ ,

(3.8)
$$\phi \frac{f-b}{f^{(1)}-\alpha} = 1 - \frac{L-a}{f-a}$$

By taking the derivative in both sides of the above identity and using it again, we deduce that

(3.9)
$$(\phi + \gamma) \frac{f^{(1)} - \alpha}{f - b} - \phi \frac{f^{(2)}}{f^{(1)} - \alpha} + \phi^{(1)} - \phi \gamma = 0.$$

G. K. GHOSH

Since $\overline{N}(r,b;f) \neq S(r,f)$ and $\overline{N}_{(2}(r,b;f) = S(r,f)$, from (3.9) we get $\phi + \gamma \equiv 0$. So,

$$\frac{f^{(2)}}{f^{(1)} - \alpha} - \frac{\phi^{(1)}}{\phi} + \frac{L^{(1)} - \alpha}{L - a} - \frac{f^{(1)} - \alpha}{f - a} = 0.$$

Proceeding as in Case I, $\overline{N}(r, \frac{ac+1}{c}; L) = S(r, L)$ and $\overline{N}(r, \frac{bc-1}{c}; f) = S(r, f)$. By the Second Fundamental Theorem, $T(r, f) = \overline{N}(r, b; f) + S(r, f)$ and $T(r, L) = \overline{N}(r, a; L) + S(r, L)$. Since $\overline{N}(r, b; L) = \overline{N}(r, a; f) + S(r, L)$ it follows from Lemma 2.2 that T(r, L) = S(r, L), which is a contradiction. This proves the theorem.

Proof of Theorem 1.10. Let L = L(f) and define ϕ as in the proof of Theorem 1.9. Since f and L share $(a, 1)^*$, $(b, 0)^*$ and $(\infty, 0)^*$, by Lemma 2.1, S(r, f) = S(r, L). Suppose $f \not\equiv L$. By the hypothesis, $T(r, \phi) = S(r, f)$. Since f and L share $(a, 1)^*$, as in the proof of Theorem 1.9, $\overline{N}_{(2)}(r, a; f) = S(r, f)$.

We first suppose that $\overline{N}(r, b; f) = S(r, f)$. Then by Lemma 2.2, $\overline{N}(r, a; f) \neq S(r, f)$. Proceeding as the proof of Case I of Theorem 1.9,

$$T(r,L) = N(r,b;L) + S(r,L)$$
$$= \overline{N}(r,b;f) + S(r,L)$$
$$= S(r,L),$$

which is a contradiction. Therefore $\overline{N}(r,b;f) \neq S(r,f)$. Now, proceeding as the proof of Case II of Theorem 1.9, we obtain (3.9).

Suppose that $\phi + \gamma \equiv 0$. Then, from (3.9),

(3.10)
$$\frac{f^{(2)}}{f^{(1)} - \alpha} - \frac{\phi^{(1)}}{\phi} + \frac{L^{(1)} - \alpha}{L - a} - \frac{f^{(1)} - \alpha}{f - a} = 0$$

Integrating the above and using the definition of ϕ , we get

(3.11)
$$c_1(f-L) = (L-a)(f-b)$$

where c_1 is a nonzero constant. Let z_1 be a *b*-point of f with multiplicity p and a *b*-point of L with multiplicity q. From (3.11), it follows that $p \leq q$. By the Taylor expansion in some neighbourhood of z_1 , we get

$$f(z) - b = \alpha_p (z - z_1)^p + O(z - z_1)^{p+1}$$

and

$$L(z) - b = \beta_q (z - z_1)^q + O(z - z_1)^{q+1},$$

where $\alpha_p \beta_q \neq 0$.

We suppose that p < q. Then, in some neighbourhood of z_1 ,

$$\frac{f(z) - L(z)}{f(z) - b} = \frac{\alpha_p + O(z - z_1)}{\alpha_p + O(z - z_1)}$$

Therefore, putting $z = z_1$ in (3.11) we get $c_1 = b - a$. Now from (3.11) we get for $c_1 = b - a$, (b - a)(f - L) = (L - a)(f - b) implies (L - b)(f - a) = 0, which is a contradiction. Therefore p = q and so f and L share $(b, \infty)^*$. Then,

385

by Theorem 1.9, $f \equiv L$, which is a contradiction. Hence, $\phi + \gamma \neq 0$. So, from (3.9), we have

$$\overline{N}_{1)}(r,b;f) \le N(r,0;\phi+\gamma) + S(r,f)$$

= $S(r,f).$

Let z_2 be a *b*-point of f with multiplicity greater than or equal to n + 2. If z_2 is a *b*-point of L, then from (1.1) and the hypothesis, $b = b_{-1}(z_2) + bb_0(z_2) + b_1(z_2)\alpha$.

If $b(z) \neq b_{-1}(z) + bb_0(z) + b_1(z)\alpha$, then

$$\overline{N}_{(n+2}(r,b;f) \le N(r,b;b_{-1}+bb_0+b_1\alpha) + S(r,f)$$
$$= S(r,f).$$

If $b \equiv b_{-1}(z) + bb_0(z) + b_1(z)\alpha$, then from (1.1), $L - f = (b_0 - 1)(f - b) + b_1(f^{(1)} - \alpha) + b_2f^{(2)} + \dots + b_nf^{(n)}$. Hence, if z_2 is not a pole of any one of $b_j(j = 0, 1, 2, \dots, n)$, then z_2 is a zero of L - f with multiplicity ≥ 2 and so is a zero of ϕ .

Therefore,

$$\overline{N}_{(n+2)}(r,b;f) \le N(r,0;\phi) + \sum_{j=0}^{n} N(r,\infty;b_j)$$
$$= S(r,f).$$

Hence in any case,

$$\overline{N}_{(n+2}(r,b;f)=S(r,f).$$

Next let z_3 be a *b*-point of f with multiplicity p ($2 \le p \le n+1$). If z_3 is not a pole of $\phi^{(1)} - \phi\gamma$, then from (3.9) that $\phi(z_3) + p\gamma(z_3) = 0$.

We suppose that $\phi(z) + p\gamma(z) \neq 0$ for any $p \in \{2, 3, ..., n+1\}$. Then, from above,

$$\overline{N}_{n+1}(r,b;f) - \overline{N}_{1}(r,b;f) \le \sum_{p=2}^{n+1} N(r,0;\phi+p\gamma) + N(r,\infty;\phi^{(1)}-\phi\gamma)$$
$$= S(r,f)$$

and so

$$\overline{N}_{n+1}(r,b;f) = S(r,f).$$

Therefore

$$\overline{N}(r,b;f) = \overline{N}_{n+1}(r,b;f) + \overline{N}_{(n+2}(r,b;f)$$
$$= S(r,f),$$

which is a contradiction. Therefore, there exists a $p \in \{2, 3, ..., n+1\}$ such that $\phi(z) + p\gamma(z) \equiv 0$. Then from (3.9), we get

$$\left(1-\frac{1}{p}\right)\frac{f^{(1)}-\alpha}{f-b} - \frac{f^{(2)}}{f^{(1)}-\alpha} + \frac{\phi^{(1)}}{\phi} - \frac{L^{(1)}-\alpha}{L-a} + \frac{f^{(1)}-\alpha}{f-a} = 0.$$

Integrating and using the definition of ϕ ,

(3.12)
$$(f-L)^p = c_2(f-b)(L-a)^p,$$

where c_2 is a nonzero constant.

Suppose that $\overline{N}(r,b;f) = S(r,f)$. Since f and L share $(a,1)^*$, we have $\overline{N}(r,a;L) = S(r,f) = S(r,L)$. So, f and L share the value a CM^* . Then by Theorem 1.11, there exists an entire function δ such that $f = b + (a-b)(e^{\delta}-1)^2$.

Hence $f - a = (a - b)e^{\delta}(e^{\delta} - 2)$ and so

$$\overline{N}(r,a;f) = \overline{N}(r,2;e^{\delta}) + S(r,e^{\delta})$$
$$= T(r,e^{\delta}) + S(r,e^{\delta})$$
$$= \frac{1}{2}T(r,f) + S(r,f),$$

which is a contradiction. Therefore, $\overline{N}(r, a; f) \neq S(r, f)$.

Let z_4 be an *a*-point of f and L with respective multiplicities q and s. From (3.12), we see that $s \leq q$. We suppose that s < q. From (3.12), $c_2 =$ $(-1)^p/(a-b)$. So again from (3.12), we get

(3.13)
$$f = b + (-1)^p (a - b)(h - 1)^p,$$

p'

and

$$L = b + \frac{(a-b)(h-1)}{h} [(-1)^p (h-1)^{p-1} + 1],$$

where $h = \frac{f-a}{L-a}$. Since f is an entire function, from (3.13), we see that h is also entire. Also, (3.13) implies that

$$T(r,h) = T(r,f) + S(r,f).$$

Further, we see that $\overline{N}(r,0;h) \leq \overline{N}_{(2}(r,a;f) + S(r,f) = S(r,f) = S(r,h).$ Therefore, by the Second Fundamental Theorem, $\overline{N}(r,d;h) \neq S(r,f)$ for a complex number $d \neq 0, \infty$ with $(-1)^p (d-1)^{p-1} + 1 = 0$. Since f and L share $(b,0)^*$, we must have p = 2. Hence f - a = (a - b)h(h - 2) and L - a = (a - b)h(h - 2)(a-b)(h-2). Since z_4 is a common zero of f-a and L-a, we have s=q, which is a contradiction to the supposition. Therefore, f and L share $(a, \infty)^*$. Now we achieve the result by Theorem 1.11. This proves the theorem. \square

Acknowledgement. The author is thankful to the reviewers for valuable comments towards the improvement of the paper.

References

- [1] C. A. Berenstein, D.-C. Chang, and B. Q. Li, On the shared values of entire functions and their partial differential polynomials in \mathbb{C}^n , Forum Math. 8 (1996), no. 3, 379–396. https://doi.org/10.1515/form.1996.8.379
- [2] G. Frank, Lecture notes on sharing values of entire and meromorphic functions, in: Workshops in Complex Analysis, Tianjin, China, 1991.
- [3] Y. X. Gu, Uniqueness of an entire function and its differential polynomial, Acta Math. Sinica 37 (1994), no. 6, 791–798.

- [4] W. K. Hayman, *Meromorphic Functions*, Oxford Mathematical Monographs, Clarendon Press, Oxford, 1964.
- [5] I. Lahiri, Weighted sharing and uniqueness of meromorphic functions, Nagoya Math. J. 161 (2001), 193-206. https://doi.org/10.1017/S0027763000027215
- [6] I. Lahiri, Weighted value sharing and uniqueness of meromorphic functions, Complex Var. Theory Appl. 46 (2001), no. 3, 241-253. https://doi.org/10.1080/1747 6930108815411
- [7] I. Lahiri, An entire function sharing two values with its linear differential polynomial, Bull. Aust. Math. Soc. 97 (2018), no. 2, 265-273. https://doi.org/10.1017/S000497271700079X
- [8] P. Li and C.-C. Yang, Value sharing of an entire function and its derivatives, J. Math. Soc. Japan 51 (1999), no. 4, 781-799. https://doi.org/10.2969/jmsj/05140781
- P. Li and C.-C. Yang, When an entire function and its linear differential polynomial share two values, Illinois J. Math. 44 (2000), no. 2, 349-362. http://projecteuclid. org/euclid.ijm/1255984845
- [10] E. Mues and N. Steinmetz, Meromorphe Funktionen, die mit ihrer Ableitung Werte teilen, Manuscripta Math. 29 (1979), no. 2-4, 195-206. https://doi.org/10.1007/ BF01303627
- [11] L. A. Rubel and C. C. Yang, Values shared by an entire function and its derivative, in Complex analysis (Proc. Conf., Univ. Kentucky, Lexington, Ky., 1976), 101–103, Lecture Notes in Math., Vol. 599, Springer, Berlin, 1977.
- [12] L. Z. Yang, Entire functions that share finite values with their derivatives, Bull. Austral. Math. Soc. 41 (1990), no. 3, 337–342. https://doi.org/10.1017/S0004972700018190
- [13] C.-C. Yang and H.-X. Yi, Uniqueness theory of meromorphic functions, Mathematics and its Applications, 557, Kluwer Academic Publishers Group, Dordrecht, 2003.

GOUTAM KUMAR GHOSH DEPARTMENT OF MATHEMATICS DR. BHUPENDRA NATH DUTTA SMRITI MAHAVIDYALAYA (THE UNIVERSITY OF BURDWAN) HATGOBINDAPUR, BURDWAN, W.B., INDIA *Email address:* g80g@rediffmail.com